Evaluate the following functions:

1. If f(z) =22 — 22+ 1, find

(a) f(2)

(b) f(v5)

(¢) f(-1+V2)
(d) f(2w+1)

Determine which of the curves are graphs of functions. For the graphs that are functions, find

the domain and range.

9. If f(z) = Va + 4, find

(a) f(=1)
(b) f(a)

(¢} f(z+h)
(d) f(®)
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Find the domain and range of each function.
6. flz)=20r+1 11. f(z)=+vaz2 -0
7. flz) =322 -2 _—
(z) 2 12, f(z) = /=2
8 f(x) = 50
- 13. f(z)=vVaZ—z -2
9. flz) = =5
13, ifr=0
10. flz)=yT—=x W flr)=9 .
—2x, ifx<0.

Find f+g.f —g.f-g. and [/g.
15. f(z) = $:0(x) = 75

16, flz)=+vr+Liglr)=v3i—x

Find fog and go f.

17. f(z) =+ —T;g(z) =2 -3

18. f(z) = Lig(z) =

1
r+1
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Answers

. (a) 1

(b) 6 —2v5
(¢) 6—4v2
(d) 4w?

. (a) V3

(b) va+1
(¢) VI+h+4
(d) VO +4

Not a funetion

Is a function. Domain: {—oc, o0}, Range: {—1} U (1, 00)

Is a function. Domain: {—oco, —2) U (—2,2) U (2, 00), Range: (—o0,0) U (1, ).

Domain: (—oo, o0), Range: (—oo, 00)

. Domain: (—oo,o0), Range: [—2, o)

8. Domain: (—no, o), Range: [0,1)

12.
13.
14.
15.

16.

17.
18.

. Domain: (—oco,1)U (1, 00), Range: (—oo,1) U (1, 00)
10.
11.

Domain: (—oo, 1], Range: [0, 00)

Domain: (—oo, —3] U [3, o0c), Range: [0, c0)
Domain: (—oo, 1) U (2, 00), Range: [0,1) U (1, 00)
Domain: (—oo, —1] U [2, 0c), Range: [0, 00)
Domain: (—oo, o), Range: [0, 0o)

f+o)@=2+50 9@ ==L- (0@ =25 (F/o)x) =2

(f+o)(z) = vz +1+/3 - (f—g)(z) = vV +1-V3 —z;(f-9)(x) = V3 + 2z — 2% (f /g)(z) =

(f o g)(x) = vVaZ—1(go f)(x) =z — 4
(fog)a) =z +1,(g0 f)(x) = 25
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